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N = #h £ 50 cm
No | BI5E B PhX 4 L BibhR BiE RELT Bl & EhE
1 bR A REE 0.08 0.09 0.08 0.08
2| 12/14 HMELE 0.09 0.10 0.12 0.11
3 . HREKREE 0.08 0.09 0.11 0.11
Yoo | B NS PELIWNES(E 3232 7) 0.07 0.09 - 0.11 0.08
5 | EsEs 0.09 0.10 - 0.11 0.10
6| 12/13 = MHARE 0.08 0.10 - - 0.10
7 1214 ERARE 0.07 0.07 0.09 0.09 0.08
8 Yo7 R 0.10 0.11 - 0.11 0.11
9 - L &DE 0.07 0.09 - 0.08 0.09
10 " At E e 5— 0.08 0.09 - 0.10 0.10
1 oLak)ESAE 0.08 0.08 - 0.09 0.09
12 = AL E XA 0.07 0.08 - 0.09 0.08
13 a1 ENRERE L S— 0.08 0.09 - 0.09 0.09
14 12/12 | mg |BEZEE 0.07 0.08 - 0.08 0.08
15 M |ARge e A 0.07 0.07 - 0.08 0.08
16| 12/13 = AR E(FFEKIS) 0.09 0.10 - 0.10 -
17 B |BkERE R S— 0.07 0.08 - 0.08 0.08
18] 12/12 % BRERELL LA E 0.10 0.10 - 0.10 -
19 X |HkEHREXFT 0.10 0.10 - 0.11 0.11
20 12/13 [dt £ |I2oZYH—4 0.07 0.10 - 0.10 0.12
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